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Second term of a GP is 1000 and the common ratioisr = % where n is a natural number. P,, is the product of
o

.
n terms of this GP. P¢ > P5 and Pg > P, what is the sum of all possible values of n?
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Let the n'" term of AP be defined as tn, and sum up to 'n' terms be defined as Sn If |tg| = |t16| and t3 is not
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equal to t;, what is S»3?
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Consider a, b, ¢ in a G.P. such that |a + b + ¢| = 15. The median of these three termsisa,andb =10.Ifa>¢c,
what is the product of the first 4 terms of this G.P.?
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Sequence P is defined by p, = p,.1 + 3, p1 = 11, Sequence Q is defined as q,, = qn.1 — 4, q3 = 103. If px > k42,
what is the smallest value k can take? = -

&tcﬁ cd=3 b=q, @=-%
‘t"/“ d;g q,""g';(og q/"/[”

/ . ~ a1 (I/J-I\("‘(‘\



{',,'/I,l d;g

q/'__g_:(o’; %‘11“

lL+(K,D'3 7 (1] +(l<“t|>(~q)
g8 7 -tk +lo0T™

Jk 749

rege)  ®

.

a, b, cand d are in A.P,, What can we say about terms bcd, acd, abd and abc?

A. Theyarealsoin A.P.

\P/rhey are also in H.P.

C. TheyarealsoinG.P.
D. TheyarenotinanA.P,G.P.orH.P.
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If S, =n®+n2+n+ 1, where S, denotes the sum of the first n terms of a series and t,= 291, then m is equal
to? _
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Let {a, } be a non-constant arithmetic progression. a; = 1 and the following holds true: for any n > 1, the value of
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